Unit #8 — Year in Review

Hw
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Unit 3 — Composite Derivative Rules

Answer: 2 Answer: —
e D 5 ¥

#_1 flx)=(&*+7y, fiix}=2 " F(x) = sin(x2), F"(x) =7
Answer: o Answer: —2

3
# Fx) = tan®(3x2), f'(x) =2 #_ f)=csc(), fim) =2
Answer: 2xcos(x2+7) Answer: 10x(x? + 7)*
#_ f)=G2+7, flx) =2 i f)=5VaZ+7, f'x)=2
Answar: T sec® (3x7) Answer: 2xsec(x® + 7)tan(x? + 7)

Jitanan)

# flx)= Va2 +7cosx f'(x)=7
# g(8) = cos(38 + m), g’(g)=?
Answer: 4xsin(x?) cos(x?) Aricwaps o
Vad+7

#__ glx)=2xvx*+7, g'(x) =7 # g(x)=sin(x®+7), g'(x)=7

€ Virge Cornelius 2017 virgecornelius.com

AP* Calculus AB Page 5



Page 6

If f(x) = h(g(x)), then f'(—-1) =?

Answer: 3xvxi L7 Answer: —4
# y=sin’(x%*) , y' =7 # git)= (*-2)", g'(1) =7
Answer: 2cos(x?) — 4x% sin(x?) Answer: —cscx(cot® x + csc’x)
"_—2 = z ! =
# For what value of t does y = V3 pave | F—— h(x) =sec(x*+7) , h'(x) =7
a horizontal tangent?
s, %wmsrs—TsHinx—r: gin x Answer: 12x tan(3x?)sec?(3x?)
J(xT+7)E
_ # The functions f(x) and g(x) are
#___ The functions f(x) and g(x) are differentiable with select values in the
differentiable with select values in the table. Let p(x) = f(x) - g(f{x}}.
table. Let hix) = f{gfx):l. Whatis k' (2)? What is p'(5)?

x f(x) f'(x) g(x) g'(x) x f(x) fi(x g(x) g'(x)

9 2 -4/3 5 0 2 1/3 - -4 6

2 1 5 A 3 5 2 1/4 0 -6

5 0 1.2 T 10

= 2
Answer: 3:—2 Answer: e
e 3 r e = ; r =7
# r(t) = o r'(—-1) =7 #__ g(x) JranGa=?) g'(x) =71
Answer: 21 Aniswars: et
V34T
# Given: g(x) = 3x% — 6x, h(x) = vx e g
# ¥ = Y _ 9

£ r
sinfx dax

Virge Cornelius 2017 virgecornelius.com

Page 6




